

Meeting Date: September 18, 2024

Staff Contact: David Laughlin, Planning & Engineering Division Manager

TITLE: C-24-26 – Approval of Contract with TLC Co. Inc. as a result of

B2025000004 Carnuel Sewage Collection System Project No. 2952.00

ACTION: Recommend Approval

SUMMARY:

The Albuquerque Bernalillo County Water Utility Authority (Water Authority) issued a Request for Bids (RFB) for Construction to solicit bids from qualified vendors to install a new low pressure sewer system in the Carnuel area between NM 333 and I-40. The project will install approximately 14,400 linear feet of new 2" and 3" HDPE pressure sewer lines, 46 single/double cleanouts, 14 CAVs, 55 plug/check valves, and 157 sanitary sewer service lines.

The RFB was advertised in the local newspaper and available for download on the Water Authority's eProcurement website, BidNet. Bids were opened for the above-referenced project on Thursday, August 22, 2024, at 1:30 p.m. The bids received were reviewed and evaluated by the Water Authority and Smith Engineering.

TLC Co. Inc. was the apparent low bidder for this project. Following the review and evaluation, TLC Co. Inc's bid was deemed responsive. A summary of the bids received is attached. The Water Authority staff requests approval to proceed with award to TLC Co. Inc.

This approval is intended to delegate signature authority to the Executive Director to enter into an Agreement with the selected contractor, approve any change orders or amendments to the Agreement as necessary to complete the project and to provide restoration services for this project based on the results of the RFB, B2025000004.

FISCAL IMPACT:

\$4,668,494.94 which amount includes NM GRT.

AGREEMENT

B2025000004 CARNUEL SEWAGE COLLECTION SYSTEM

PROJECT NO. 02952.00

THIS AGREEMENT is made and entered into on the date last entered below, by and between the Albuquerque Bernalillo County Water Utility Authority, hereinafter called OWNER, and TLC Company, Inc. Spear D, hereinafter called CONTRACTOR.

That Owner and Contractor for the consideration stated herein mutually agree as follows:

- 1. STATEMENT OF WORK: CONTRACTOR shall furnish all supervision, technical personnel, labor, materials, machinery, tools, equipment and services, including utility and transportation services, and perform and complete the Work for the construction of the above-referenced Project and any authorized supplemental work, all in strict accordance with the Contract Documents.
- **2. CONTRACT TIME:** The Contract Time will commence on the day indicated in the Notice to Proceed, as specified in the General Terms and Conditions, and continue for a period of 379 days. Changes to the Contract Time are allowed only as provided in the General Terms and Conditions.

Liquidated damages, in the amount per day of One Thousand Dollars (\$1,000.00) will be assessed against the Contractor for each calendar day, or portion thereof, the Work has not achieved Substantial Completion after expiration of that portion of the Contract Time allotted for construction, including any approved extension of time granted. Further, liquidated damages, in the amount per day of One Thousand Dollars (\$1,000.00) will be assessed against the Contractor for each calendar day, or portion thereof, the punch list items listed as incomplete and attached to the Certificate of Substantial Completion are not completed or corrected after expiration of the time allotted for completion and correction, including any approved extension of time granted. These liquidated damages are cumulative. See the General Terms and Conditions, referenced in Part IV of this RFB, for additional information terms relating to liquidated damages.

- **3. CONTRACT PRICE:** OWNER will pay CONTRACTOR for the performance of the Contract in current funds, as provided in the Contract Documents, the amount of Four Million, Six Hundred Sixty-Eight Thousand, Four Hundred Ninety-Four Dollars and 94/100 (\$4,668,494.94), which amount includes any applicable New Mexico Gross Receipts Taxes.
- 4. NON-APPROPRIATION OF FUNDS: Notwithstanding any provision in this Contract to the contrary, payments hereunder are contingent upon the Water Authority Board making the necessary appropriations. If sufficient appropriations are not made, this Contract may be terminated at the end of the Water Authority's then current fiscal year upon written notice given by OWNER to CONTRACTOR. Such event shall not constitute an event of default and all payment obligations of OWNER and all of its interest in this Contract will cease upon the date of termination. OWNER'S determination regarding appropriations shall be accepted by CONTRACTOR and shall be final.
- 5. COMPLIANCE WITH LAWS: In providing the Work outlined herein, Contractor shall comply with all applicable laws, ordinances, and codes of the federal, State, and local governments, including, but not limited to the New Mexico Human Rights Act, Title VII of the federal Civil Rights Act of 1964, the Americans with Disabilities Act of 1990, and all federal, State and local statutes, regulations and executive orders relating to civil rights. Furthermore, this

Agreement must be conducted in accordance with mandatory applicable federal laws and regulations as set forth in Exhibit A, Water Authority Federal Funding Contract Addendum.

- **6. CONTRACT DOCUMENTS:** The Contract Documents consist of the following, which are as fully a part of the Contract as if attached to this Agreement or repeated herein, and have precedence in the following order:
 - Modifications to the Contract Documents
 - the Agreement (Along with Exhibit A, Federal Funding Contract Addendum), insurance certificates and surety bonds
 - Contractor's Bid Proposal, except as provided below
 - the Addenda to the Bid Documents.
 - the Special Instructions (Part II of the RFB)
 - the Project Technical Specifications attached as Appendix A to the Bid Documents
 - the Drawings attached as Appendix B to the Bid Documents
 - the Federal Funding Solicitation Addendum attached as Appendix C to the Bid Documents
 - the General Terms and Conditions, as supplemented in Part II of the RFB (as updated and amended).
 - the Referenced Standard Specifications (as updated and amended).
 - the Instructions to Bidders (Part I of the RFB)
 - additional forms and instructions in the RFB
 - the Advertisement for Bids
- 6.1 Construction detail drawings shall govern over scaled dimensions and over other drawings. Dimensions given on plans or which can be calculated will govern over scaled dimensions.
- 6.2 Anything in the CONTRACTOR'S Bid Proposal which alters or provides a condition to the Bid Documents will not take precedence over any part of the Bid Documents unless it is specifically so provided in the Agreement, or a Modification to the Contract Documents, signed by the parties.
- 6.3 All definitions and terms set forth in the General Terms and Conditions and the Procurement Ordinance are applicable to the Bid and Contract Documents.

IN WITNESS WHEREOF, OWNER and CONTRACTOR have executed this Agreement the day and year last entered below.

TLC CO. INC SPEAR D

ALBUQUERQUE BERNALILLO COUNTY WATER UTILITY AUTHORITY By:_____ Approved By: Title: Date: _____ Mark S. Sanchez, Executive Director Date: _____ Reviewed by: Christopher P. Melendrez, General Counsel

Date:

AGREEMENT EXHIBIT A:

Water Authority - Federal Funding Contract Addendum

This addendum hereby incorporates into the Agreement between the Water Authority and the Contractor additional requirements pursuant to Appendix II to Part 200 - Contract Provisions for Non-Federal Entity Contracts Under Federal Awards, 2 CFR 200 – Uniform Administrative Requirements, Cost Principles, and Audit Requirements for Federal Awards.

The following provisions, as applicable, are considered an enforceable part of the Agreement:

- 1. Administrative, contractual, or legal remedies in instances where Contractors violate or breach contract terms, and provide for such sanctions and penalties as appropriate.
- 2. Termination for cause and for convenience including the manner by which it will be effected and the basis for settlement.
- 3. § 60-1.4 Equal opportunity clause.
 - a. Government contracts.

During the performance of this contract, the Contractor agrees as follows:

- (1) The Contractor will not discriminate against any employee or applicant for employment because of race, color, religion, sex, sexual orientation, gender identity, or national origin. The Contractor will take affirmative action to ensure that applicants are employed, and that employees are treated during employment, without regard to their race, color, religion, sex, sexual orientation, gender identity, or national origin. Such action shall include, but not be limited to the following: Employment, upgrading, demotion, or transfer, recruitment or recruitment advertising; layoff or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship. The Contractor agrees to post in conspicuous places, available to employees and applicants for employment, notices to be provided by the contracting officer setting forth the provisions of this nondiscrimination clause.
- (2) The Contractor will, in all solicitations or advertisements for employees placed by or on behalf of the Contractor, state that all qualified applicants will receive consideration for employment without regard to race, color, religion, sex, sexual orientation, gender identity, or national origin.
- (3) The Contractor will not discharge or in any other manner discriminate against any employee or applicant for employment because such employee or applicant has inquired about, discussed, or disclosed the compensation of the employee or applicant or another employee or applicant. This provision shall not apply to instances in which an employee who has access to the compensation information of other employees or applicants as a part of such employee's essential job functions discloses the compensation of such other employees or applicants to individuals who do not otherwise have access to such information, unless such disclosure is in response to a formal complaint or charge, in furtherance of an investigation, proceeding, hearing, or action, including an investigation

conducted by the employer, or is consistent with the Contractor's legal duty to furnish information.

- (4) The Contractor will send to each labor union or representative of workers with which it has a collective bargaining agreement or other contract or understanding, a notice to be provided by the agency contracting officer, advising the labor union or workers' representative of the Contractor's commitments under section 202 of Executive Order 11246 of September 24, 1965, and shall post copies of the notice in conspicuous places available to employees and applicants for employment.
- (5) The Contractor will comply with all provisions of Executive Order 11246 of September 24, 1965, and of the rules, regulations, and relevant orders of the Secretary of Labor.
- (6) The Contractor will furnish all information and reports required by Executive Order 11246 of September 24, 1965, and by the rules, regulations, and orders of the Secretary of Labor, or pursuant thereto, and will permit access to his books, records, and accounts by the contracting agency and the Secretary of Labor for purposes of investigation to ascertain compliance with such rules, regulations, and orders.
- (7) In the event of the Contractor's non-compliance with the nondiscrimination clauses of this contract or with any of such rules, regulations, or orders, this contract may be canceled, terminated or suspended in whole or in part and the Contractor may be declared ineligible for further Government contracts in accordance with procedures authorized in Executive Order 11246 of September 24, 1965, and such other sanctions may be imposed and remedies invoked as provided in Executive Order 11246 of September 24, 1965, or by rule, regulation, or order of the Secretary of Labor, or as otherwise provided by law.
- (8) The Contractor will include the provisions of paragraphs (1) through (8) in every subcontract or purchase order unless exempted by rules, regulations, or orders of the Secretary of Labor issued pursuant to section 204 of Executive Order 11246 of September 24, 1965, so that such provisions will be binding upon each subcontractor or vendor. The Contractor will take such action with respect to any subcontract or purchase order as may be directed by the Secretary of Labor as a means of enforcing such provisions including sanctions for noncompliance: Provided, however, that in the event the Contractor becomes involved in, or is threatened with, litigation with a subcontractor or vendor as a result of such direction, the Contractor may request the United States to enter into such litigation to protect the interests of the United States.
- b. Federally assisted construction contracts.

During the performance of this contract, the contractor agrees as follows:

(1) The contractor will not discriminate against any employee or applicant for employment because of race, color, religion, sex, sexual orientation, gender identity, or

national origin. The contractor will take affirmative action to ensure that applicants are employed, and that employees are treated during employment without regard to their race, color, religion, sex, sexual orientation, gender identity, or national origin. Such action shall include, but not be limited to the following:

Employment, upgrading, demotion, or transfer; recruitment or recruitment advertising; layoff or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship. The contractor agrees to post in conspicuous places, available to employees and applicants for employment, notices to be provided setting forth the provisions of this nondiscrimination clause.

- (2) The contractor will, in all solicitations or advertisements for employees placed by or on behalf of the contractor, state that all qualified applicants will receive consideration for employment without regard to race, color, religion, sex, sexual orientation, gender identity, or national origin.
- (3) The contractor will not discharge or in any other manner discriminate against any employee or applicant for employment because such employee or applicant has inquired about, discussed, or disclosed the compensation of the employee or applicant or another employee or applicant. This provision shall not apply to instances in which an employee who has access to the compensation information of other employees or applicants as a part of such employee's essential job functions discloses the compensation of such other employees or applicants to individuals who do not otherwise have access to such information, unless such disclosure is in response to a formal complaint or charge, in furtherance of an investigation, proceeding, hearing, or action, including an investigation conducted by the employer, or is consistent with the contractor's legal duty to furnish information.
- (4) The contractor will send to each labor union or representative of workers with which he has a collective bargaining agreement or other contract or understanding, a notice to be provided advising the said labor union or workers' representatives of the contractor's commitments under this section, and shall post copies of the notice in conspicuous places available to employees and applicants for employment.
- (5) The contractor will comply with all provisions of Executive Order 11246 of September 24, 1965, and of the rules, regulations, and relevant orders of the Secretary of Labor.
- (6) The contractor will furnish all information and reports required by Executive Order 11246 of September 24, 1965, and by rules, regulations, and orders of the Secretary of Labor, or pursuant thereto, and will permit access to his books, records, and accounts by the administering agency and the Secretary of Labor for purposes of investigation to ascertain compliance with such rules, regulations, and orders.
- (7) In the event of the contractor's noncompliance with the nondiscrimination clauses of this contract or with any of the said rules, regulations, or orders, this contract may be

canceled, terminated, or suspended in whole or in part and the contractor may be declared ineligible for further Government contracts or federally assisted construction contracts in accordance with procedures authorized in Executive Order 11246 of September 24, 1965, and such other sanctions may be imposed and remedies invoked as provided in Executive Order 11246 of September 24, 1965, or by rule, regulation, or order of the Secretary of Labor, or as otherwise provided by law.

(8) The contractor will include the portion of the sentence immediately preceding paragraph (1) and the provisions of paragraphs (1) through (8) in every subcontract or purchase order unless exempted by rules, regulations, or orders of the Secretary of Labor issued pursuant to section 204 of Executive Order 11246 of September 24, 1965, so that such provisions will be binding upon each subcontractor or vendor. The contractor will take such action with respect to any subcontract or purchase order as the administering agency may direct as a means of enforcing such provisions, including sanctions for noncompliance:

Provided, however, that in the event a contractor becomes involved in, or is threatened with, litigation with a subcontractor or vendor as a result of such direction by the administering agency, the contractor may request the United States to enter into such litigation to protect the interests of the United States.

The applicant further agrees that it will be bound by the above equal opportunity clause with respect to its own employment practices when it participates in federally assisted construction work: Provided, that if the applicant so participating is a State or local government, the above equal opportunity clause is not applicable to any agency, instrumentality or subdivision of such government which does not participate in work on or under the contract.

The applicant agrees that it will assist and cooperate actively with the administering agency and the Secretary of Labor in obtaining the compliance of contractors and subcontractors with the equal opportunity clause and the rules, regulations, and relevant orders of the Secretary of Labor, that it will furnish the administering agency and the Secretary of Labor such information as they may require for the supervision of such compliance, and that it will otherwise assist the administering agency in the discharge of the agency's primary responsibility for securing compliance.

The applicant further agrees that it will refrain from entering into any contract or contract modification subject to Executive Order 11246 of September 24, 1965, with a contractor debarred from, or who has not demonstrated eligibility for, Government contracts and federally assisted construction contracts pursuant to the Executive Order and will carry out such sanctions and penalties for violation of the equal opportunity clause as may be imposed upon contractors and subcontractors by the administering agency or the Secretary of Labor pursuant to Part II, Subpart D of the Executive Order. In addition, the applicant agrees that if it fails or refuses to comply with these undertakings, the administering agency may take any or all of the following actions: Cancel, terminate, or suspend in whole or in part this grant (contract, loan, insurance, guarantee); refrain from

extending any further assistance to the applicant under the program with respect to which the failure or refund occurred until satisfactory assurance of future compliance has been received from such applicant; and refer the case to the Department of Justice for appropriate legal proceedings.

- 1. Subcontracts. Each nonexempt prime contractor or subcontractor shall include the equal opportunity clause in each of its nonexempt subcontracts.
- 2. Inclusion of the equal opportunity clause by reference. The equal opportunity clause may be included by reference in all Government contracts and subcontracts, including Government bills of lading, transportation requests, contracts for deposit of Government funds, and contracts for issuing and paying U.S. savings bonds and notes, and such other contracts and subcontracts as the Director of OFCCP may designate.
- 3. Incorporation by operation of the order. By operation of the order, the equal opportunity clause shall be considered to be a part of every contract and subcontract required by the order and the regulations in this part to include such a clause whether or not it is physically incorporated in such contracts and whether or not the contract between the agency and the Contractor is written.
- 4. Adaptation of language. Such necessary changes in language may be made in the equal opportunity clause as shall be appropriate to identify properly the parties and their undertakings.
- 4. In accordance the Davis-Bacon Act (40 U.S.C. 3141-3144, and 3146-3148) as supplemented by Department of Labor regulations (29 CFR Part 5, "Labor Standards Provisions Applicable to Contracts Covering Federally Financed and Assisted Construction"), Construction contractors must pay wages to laborers and mechanics at a rate not less than the prevailing wages specified in a wage determination made by the Secretary of Labor. In addition, Construction contractors must pay wages not less than once a week. When both federal and state minimum wage rates apply to certain classes of laborers, then the higher of the two wage rates shall apply.
- 5. Contractor must comply with the Copeland "Anti-Kickback" Act (40 U.S.C. 3145), as supplemented by Department of Labor regulations (29 CFR Part 3, "Contractors and Subcontractors on Public Building or Public Work Financed in Whole or in Part by Loans or Grants from the United States"). The Act provides that each contractor or subrecipient must be prohibited from inducing, by any means, any person employed in the construction, completion, or repair of public work, to give up any part of the compensation to which he or she is otherwise entitled.
- 6. Pursuant to 40 U.S.C. 3702 and 3704, as supplemented by Department of Labor regulations (29 CFR Part 5), contracts in excess of \$100,000 that involve the employment of mechanics or laborers, each contractor must compute the wages of every mechanic and laborer on the basis of a standard work week of 40 hours. Work in excess of the standard work week is permissible provided that the worker is compensated at a rate of not less than one and a half times the basic rate of pay for all hours worked in excess of 40 hours in the work week. The

requirements of 40 U.S.C. 3704 are applicable to construction work and provide that no laborer or mechanic must be required to work in surroundings or under working conditions which are unsanitary, hazardous or dangerous. These requirements do not apply to the purchases of supplies or materials or articles ordinarily available on the open market, or contracts for transportation or transmission of intelligence.

- 7. Clean Air Act (42 U.S.C. 7401-7671q.) and the Federal Water Pollution Control Act (33 U.S.C. 1251-1387), as amended Contracts of amounts in excess of \$150,000 must contain a provision that requires the non-Federal award to agree to comply with all applicable standards, orders or regulations issued pursuant to the Clean Air Act (42 U.S.C. 7401-7671q) and the Federal Water Pollution Control Act as amended (33 U.S.C. 1251-1387).
- 8. Contractors must comply with section 6002 of the Solid Waste Disposal Act, as amended by the Resource Conservation and Recovery Act. The requirements of Section 6002 include procuring only items designated in guidelines of the Environmental Protection Agency (EPA) at 40 CFR part 247 that contain the highest percentage of recovered materials practicable, consistent with maintaining a satisfactory level of competition, where the purchase price of the item exceeds \$10,000 or the value of the quantity acquired during the preceding fiscal year exceeded \$10,000; procuring solid waste management services in a manner that maximizes energy and resource recovery; and establishing an affirmative procurement program for procurement of recovered materials identified in the EPA guidelines.
- 9. As appropriate and to the extent consistent with law, the Contractor should, to the greatest extent practicable under a Federal award, provide a preference for the purchase, acquisition, or use of goods, products, or materials produced in the United States (including but not limited to iron, aluminum, steel, cement, and other manufactured products).
 - (b) For purposes of this section:
 - (1) "Produced in the United States" means, for iron and steel products, that all manufacturing processes, from the initial melting stage through the application of coatings, occurred in the United States.
 - (2) "Manufactured products" means items and construction materials composed in whole or in part of non-ferrous metals such as aluminum; plastics and polymer-based products such as polyvinyl chloride pipe; aggregates such as concrete; glass, including optical fiber; and lumber.



Solutions for Today... Vision for Tomorrow

8/29/2024

Jane Rael, PE Albuquerque Bernalillo County Water Utility Authority One Civic Plaza, Room 5027 Albuquerque, New Mexico 87102

Re: Carnuel Wastewater System Expansion Phase I – Recommendation of Award

Water Authority – 2952.00XX

SEC - 120101-25

Dear Mrs. Rael:

The following bids for the above referenced project were received from "Qualified Contractors" by 1:30 PM on August 22, 2024.

Contractor	Base Bid (w/out NMGRT)	Additive Alt I (w/out NMGRT)	Additive Alt II (w/out NMGRT)	Additive Alt III (w/out NMGRT)	Additive Alt IV (w/out NMGRT)	Total Amount (incl. NMGRT)
1. TLC, Inc.	\$568,869.50	\$477,219.00	\$655,491.00	\$1,333,249.75	\$1,705,515.25	\$4,668,494.94
2. NMUU, Inc.	\$789,684.90	\$673,843.39	\$769,033.96	\$1,033,849.00	\$2,125,272.05	\$5,982,703.62
EOPCC*	\$543,693.00	\$457,503.75	\$484,148.75	\$890,955.00	\$1,284,256.50	\$3,887,096.44

^{*}Engineers Opinion of Probable Construction Cost

Smith Engineering (Smith) has attached a tabulation of the bid received including the Engineer's Opinion of Probable Construction Cost. The items highlighted in yellow indicate the bid item that was missing from the bid tab attachment included in addendum #2. Contractors did not include a unit price for this item and does not affect the low bidder selection.

The low bidder for the project is **TLC, Inc.** Smith carefully reviewed the documents and determined the following:

- The Bid Proposal was signed by Eddie C. Padilla, President.
- TLC, Inc. is a listed contractor in the State of New Mexico, License No. 51429, License Classifications GA98, GB98, GF98, EE98, and MM98. Smith verified this information with the PSI License Management website (http://public.psiexams.com/search.jsp).
- The NM Department of Workforce Solutions listed a Registration No. of 0191742011629 for TLC, Inc. Smith verified this information with the Workforce Solutions website (https://www.dws.state.nm.us/pwaa/LRDEmployer/PW/Search/LEFSearch.ASPX).

Along with the signed Bid Proposal form, TLC, Inc. submitted the following as part of their bid package:

- Unfair Business Practices Disclosure Form
- SFPA-1 Form/Subcontractor Listing

- Bid Bond
- Disclosure of Lobbying Activities Form
- Acknowledgement of addendum 1 and 2.

TLC Inc. has submitted the lowest responsive bid. Smith is not aware of any other information that would preclude the award of a contract to TLC, Inc. Smith therefore recommends award to TLC, Inc. for the amount of \$4,668,494.94 (incl. NMGRT) for the base bid and all additive alternates assuming the Water Authority has the necessary funds.

Note that coordination with TLC will need to take place during construction to include cost for bid item 112 under additive alternate IV. Based on similar unit prices from the base bid and additive alternates III, this bid item will add approximately \$50,000.00 to additive alternate IV.

In addition to recommending this award, Smith has reviewed TLC's bid proposal for "unbalanced bid amounts" and identified items 6, 31, 55, 80, and 106 for the supply and installation of aggregate base course as "unbalanced bid amounts". If additional base course is found to be replaced during construction the costs associated with these items could significantly increase the overall construction cost. Coordination with the contractor regarding the bid unit price will be essential to ensure an accurate project cost.

Should you have any questions or concerns please do not hesitate to contact me at (505)235-6497.

Recommended:

Smith Engineering Company

Isai E. Harcia

Isai Garcia, P.E.

Civil Engineer

Accepted:

Sincerely,

Jane Rael, P.E. David Laughlin, P.E.

Project Manager Planning and Engineering Division

Manager

Concur:

Marta Ortiz, Chief Financial Officer Enclosure

cc: Candida Kelcourse, Water Authority; Ege Richardson, PE, Water Authority Attachments: Bid Tabulation, TLC Bid Package



		SAL: CARNUEL WASTEWATER SYSTEM EXPANSION PHAS															
Bid tem#	Item ID #	Item Description	Est. Qtv	Unit	Unit Price	Amount		ow Bidder Jnit Cost	verage Bid Unit Cost	Δ Engineer's Estimate	1	TLC			N	мии	
	D - TASK AREA 1		۳.,				Ì	Jiiit Goot	 onii ooot	Loundto	Unit Price		Amount	ι	Jnit Price		Amount
1	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	\$ 10,000.00	\$ 10,000.00	\$	8,450.00	\$ 18,405.67	-15.50%	\$ 8,450.00	\$	8,450.00	\$	6,767.00	\$	6,767.00
2	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	\$ 5,000.00	\$ 5,000.00	\$	5,990.00	\$ 14,326.67	19.80%	\$ 5,990.00	\$	5,990.00	\$	29,990.00	\$	29,990.00
3	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	\$ 2,500.00	\$ 2,500.00	\$	2,370.00	\$ 4,928.33	-5.20%	\$ 2,370.00	\$	2,370.00	\$	2,415.00	\$	2,415.00
4	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	300	CY	\$ 45.00	\$ 13,500.00	\$	104.00	\$ 882.33	131.11%	\$ 104.00	\$	31,200.00	\$	43.00	\$	12,900.00
5	302.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	1,081	SY	\$ 10.00	\$ 10,810.00	\$	15.50	\$ 23.50	55.00%	\$ 15.50	\$	16,755.50	\$	7.00	\$	7,567.00
6	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	10	CY	\$ 25.00	\$ 250.00	\$	255.00	\$ 139.03	920.00%	\$ 255.00	\$	2,550.00	\$	114.10	\$	1,141.00
7	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	290	SY	\$ 35.00	\$ 10,150.00	\$	73.30	\$ 150.80	109.43%	\$ 73.30	\$	21,257.00	\$	79.10	\$	22,939.00
8	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	30	SY	\$ 60.00	\$ 1,800.00	\$	135.70	\$ 101.92	126.17%	\$ 135.70	\$	4,071.00	\$	158.05	\$	4,741.50
9	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	320	SY	\$ 10.00	\$ 3,200.00	\$	33.25	\$ 22.50	232.50%	\$ 33.25	\$	10,640.00	\$	12.25	\$	3,920.00
10	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard Specification section 440, complete and in place.	10	LF	\$ 5.00	\$ 50.00	\$	2.00	\$ 8.67	-60.00%	\$ 2.00	\$	20.00	\$	10.00	\$	100.00
11	710.050	Furnish and install 6-inch steel casing by boring per Standard Specification section 710, complete and in place.	30	LF	\$ 250.00	\$ 7,500.00	\$	1,405.00	\$ 867.67	462.00%	\$ 1,405.00	\$	42,150.00	\$	1,170.00	\$	35,100.00
12	31 50 10.110	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	910	LF	\$ 20.00	\$ 18,200.00	69	32.00	\$ 38.05	60.00%	\$ 32.00	\$	29,120.00	\$	40.15	\$	36,536.50
13	31 50 10.111	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	350	LF	\$ 250.00	\$ 87,500.00	\$	103.45	\$ 166.32	-58.62%	\$ 103.45	\$	36,207.50	\$	321.50	\$	112,525.00
14	31 50 10.120	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	730	LF	\$ 25.00	\$ 18,250.00	\$	39.40	\$ 29.48	57.60%	\$ 39.40	\$	28,762.00	\$	44.05	\$	32,156.50
15	31 50 10.121	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	430	LF	\$ 255.00	\$ 109,650.00	\$	105.45	\$ 339.90	-58.65%	\$ 105.45	\$	45,343.50	\$	325.25	\$	139,857.50
16	925.100	Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	\$ 20,000.00	\$ 60,000.00	\$	10,985.00	\$ 8,275.00	-45.08%	\$ 10,985.00	\$	32,955.00	\$	13,290.00	\$	39,870.0
17	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,500.00	\$ 1,500.00	\$	15,360.00	\$ 9,190.00	924.00%	\$ 15,360.00	\$	15,360.00	\$	12,150.00	\$	12,150.0
18	925.110	Furnish and install new 2* plug valve, complete in place per detail on sheet C57.	3	EA	\$ 1,500.00	\$ 4,500.00	\$	2,100.00	\$ 1,582.67	40.00%	\$ 2,100.00	\$	6,300.00	\$	2,580.00	\$	7,740.0
19	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	4	EA	\$ 1,500.00	\$ 6,000.00	\$	2,460.00	\$ 1,824.33	64.00%	\$ 2,460.00	\$	9,840.00	\$	2,898.00	\$	11,592.00
20	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	28	EA	\$ 3,000.00	\$ 84,000.00	\$	3,195.00	\$ 2,296.67	6.50%	\$ 3,195.00	\$	89,460.00	\$	3,580.00	\$	100,240.00
21	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	720	LF	\$ 15.00	\$ 10,800.00	\$	33.40	\$ 81.72	122.67%	\$ 33.40	\$	24,048.00	\$	36.75	\$	26,460.00
22	925.558	Furnish and install new 2" single pressurized cleanout, complete in	3	EA	\$ 1,500.00	\$ 4,500.00	\$	2,540.00	\$ 5,016.67	69.33%	\$ 2,540.00	\$	7,620.00	\$	4,610.00	\$	13,830.00
23	926.559	place per detail on sheet C55. Furnish and install new 2" double pressurized cleanout, complete in	3	EA	\$ 2,000.00	\$ 6,000.00	\$	6,180.00	\$ 5,213.33	209.00%	\$ 6,180.00	\$	18,540.00	\$	9,450.00	\$	28,350.00
24	928.561	place per detail on sheet C55. Furnish and install new 3" double pressurized cleanout, complete in place per detail on sheet C55.	2	EA	\$ 2,500.00	\$ 5,000.00	\$	10,430.00	8,085.00	317.20%	\$ 10,430.00		20,860.00	\$	13,025.00	\$	26,050.00
	Subtotal Task Are	a 1 - Bid Items 1 through 24:				\$ 480,660.00						\$	509,869.50			\$	714,938.0
25	621.4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	1	LS	\$ 24,033.00	\$ 24,033.00	\$	20,000.00	\$ 87,915.63	-16.78%	\$ 20,000.00		20,000.00	\$	35,746.90	\$	35,746.90
	a) Subtotal - Bid Itb) Base Bid Allow	tems 1 through 25: rances:				\$ 504,693.00	-					\$	529,869.50			\$	750,684.90
		Testing				\$ 10,000.00						\$	10,000.00			\$	10,000.00
	Project Sign Temporary Traffic Control and Barricading				\$ 1,500.00 7,500.00						\$	1,500.00 7,500.00			\$	1,500.00 7,500.00	
		Vibration Monitoring				\$ 15,000.00	•					\$	15,000.00			\$	15,000.00
		Permits				\$ 5,000.00						\$	5,000.00			\$	5,000.00
		Total Allowances:				\$ 39,000.00						\$	39,000.00			\$	39,000.0
	c) Subtotal Race I	Bid and Allowances (lines a+b):				\$ 543,693.00						\$	568,869.50			\$	789,684.



Bid	Item ID #	Item Description	Est.	Unit	Unit Price		Amount		ow Bidder		verage Bid	Δ Engineer's		7	TLC			NI	NUU	
tem #	Rem ID #	Rem Description	Qty	Oille	Olik i rice		Amount	ι	Init Cost	ι	Unit Cost	Estimate		'	0					
26	01 71 23	Construction staking, per Supplemental Technical Specification 01 71	1	LS	\$ 10,000.00	\$	10,000.00	s	7,460.00	\$	17,725.67	-25.40%	\$	7,460.00	s	7,460.00	\$	5,717.00	\$	5,717
27	01 57 23	23, complete. Provide National Pollutant Discharge Elimination System (NPDES)	1	LS	\$ 5,000.00	\$	5,000.00	s	2,575.00	\$	11,486.00	-48.50%	\$	2,575.00	\$	2,575.00	\$	24,883.00	s	24,883
		permitting, complete. Perform and submit pre-construction video documentation per				H	•	-		_			Ě	-	-		_			
28	6.070	Supplemental Technical Specification 01 32 36, complete.	1	LS	\$ 1,200.00	\$	1,200.00	\$	2,370.00	\$	4,765.00	97.50%	\$	2,370.00	\$	2,370.00	\$	1,925.00	\$	1,92
29	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	270	CY	\$ 45.00	\$	12,150.00	\$	104.00	\$	65.00	131.11%	\$	104.00	\$	28,080.00	\$	43.00	\$	11,61
30	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	580	SY	\$ 10.00	\$	5,800.00	\$	14.80	\$	23.27	48.00%	\$	14.80	\$	8,584.00	\$	7.00	\$	4,06
31	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	10	CY	\$ 25.00	\$	250.00	\$	255.00	\$	223.03	920.00%	\$	255.00	\$	2,550.00	\$	114.10	\$	1,14
32	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	115	SY	\$ 35.00	\$	4,025.00	\$	73.30	\$	54.80	109.43%	\$	73.30	\$	8,429.50	\$	79.10	\$	9,09
33	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	45	SY	\$ 60.00	\$	2,700.00	\$	135.70	\$	107.25	126.17%	\$	135.70	\$	6,106.50	\$	158.05	\$	7,11
34	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANYTHICKNESS, per standard specification section 343, complete.	160	SY	\$ 10.00	\$	1,600.00	\$	33.30	\$	40.27	233.00%	\$	33.30	\$	5,328.00	\$	13.50	\$	2,16
35	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard Specification section 440, complete and in place.	10	LF	\$ 5.00	\$	50.00	\$	2.00	\$	5.67	-60.00%	\$	2.00	\$	20.00	\$	10.00	\$	10
36	710.050	Furnish and install 6-inch steel casing by boring per Standard Specification section 710, complete and in place.	30	LF	\$ 250.00	\$	7,500.00	\$	1,405.00	\$	878.33	462.00%	\$	1,405.00	\$	42,150.00	\$	1,170.00	\$	35,10
37	31 50 10.110	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	1,000	LF	\$ 20.00	\$	20,000.00	\$	35.00	\$	63.67	75.00%	\$	35.00	\$	35,000.00	\$	41.00	\$	41,00
38	31 50 10.111	Furnish and install 2* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	520	LF	\$ 250.00	\$	130,000.00	\$	103.40	\$	2,775.97	-58.64%	\$	103.40	\$	53,768.00	\$	324.50	\$	168,74
39	31 50 10.120	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	300	LF	\$ 25.00	\$	7,500.00	\$	43.40	\$	34.02	73.60%	\$	43.40	\$	13,020.00	\$	48.65	\$	14,59
40	31 50 10.121	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rook Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	160	LF	\$ 255.00	\$	40,800.00	\$	105.55	\$	978.13	-58.61%	\$	105.55	\$	16,888.00	\$	328.85	\$	52,61
41	925.100	Furnish and Install new 2* single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	2	EA	\$ 20,000.00	\$	40,000.00	\$	10,990.00	\$	10,260.00	-45.05%	\$	10,990.00	\$	21,980.00	\$	13,290.00	\$	26,5
42	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,500.00	\$	1,500.00	\$	15,360.00	\$	9,336.67	924.00%	\$	15,360.00	\$	15,360.00	\$	12,150.00	\$	12,1
43	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	4	EA	\$ 1,500.00	\$	6,000.00	\$	2,100.00	\$	4,226.67	40.00%	\$	2,100.00	\$	8,400.00	\$	2,580.00	\$	10,3
44	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	4	EA	\$ 1,500.00	\$	6,000.00	\$	2,460.00	\$	1,936.00	64.00%	\$	2,460.00	\$	9,840.00	\$	2,898.00	\$	11,59
45	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service from force main to properly line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	25	EA	\$ 3,000.00	\$	75,000.00	\$	3,190.00	\$	2,323.33	6.33%	\$	3,190.00	\$	79,750.00	\$	3,580.00	\$	89,50
46	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service line as required, complete in place.	500	LF	\$ 15.00	\$	7,500.00	\$	33.40	\$	123.38	122.67%	\$	33.40	\$	16,700.00	\$	36.75	\$	18,37
47	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	4	EA	\$ 1,500.00	\$	6,000.00	\$	2,540.00	\$	6,050.00	69.33%	\$	2,540.00	\$	10,160.00	\$	4,610.00	\$	18,44
48	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	4	EA	\$ 2,000.00	\$	8,000.00	\$	6,175.00	\$	9,208.33	208.75%	\$	6,175.00	\$	24,700.00	\$	9,450.00	\$	37,80
	Subtotal Task A	rea 2 - Bid Items 26 through 48 :			1	\$	398,575.00		'						\$	419,219.00		'	\$	604,6
49	621.4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	1	LS	\$ 19,928.75	\$	19,928.75	\$	19,000.00	\$	41,410.21	-4.66%	\$	19,000.00	\$	19,000.00	\$	30,230.64	\$	30,2
		itive Alternate I - Bid Items 26 through 49:				\$	418,503.75								\$	438,219.00			\$	634,8
	e) Additive Alter	rnate I Allowances Testing				\$	10,000.00								s	10,000.00			s	10,0
		Project Sign				\$	1,500.00								\$	1,500.00			\$	1,5
		Temporary Traffic Control and Barricading				\$	7,500.00								\$	7,500.00			\$	7,5
		Vibration Monitoring				\$	15,000.00								\$	15,000.00			\$	15,0
		Permits				s	5,000.00								\$	5,000.00			\$	5.0
		Total Additive Alternate I Allowances:				\$	39,000.00								S	39,000.00			\$	39,0
		e d) Subtotal Additive Alternate I Plus Line e) Total Additive Alternate I Allo				\$	457,503.75									477,219.00			\$	673



	ICE BID PROP	DSAL: CARNUEL WASTEWATER SYSTEM EXPANSION PHASE	: I																	
Bid Item#	Item ID #	Item Description	Est. Qty	Unit	Unit Price		Amount		ow Bidder Jnit Cost		verage Bid Jnit Cost	Δ Engineer's Estimate		1	ГLС			N	MUU	
DDITIVI	E ALTERNATE II	- TASK AREA 3			•								-	Jnit Price		Amount	Ur	nit Price		Amount
50	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	\$ 10,000.00	\$	10,000.00	\$	6,520.00	\$	17,248.33	-34.80%	\$	6,520.00	\$	6,520.00	\$	5,225.00	\$	5,225.0
51	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	\$ 5,000.00	\$	5,000.00	\$	2,875.00	\$	12,101.67	-42.50%	\$	2,875.00	\$	2,875.00	\$	26,430.00	\$	26,430.0
52	6.070	Perform and submit pre-construction video documentation per	1	LS	\$ 1,200.00	\$	1,200.00	s	2,370.00	\$	4,660.00	97.50%	\$	2,370.00	s	2,370.00	\$	1,610.00	s	1,610.
		Supplemental Technical Specification 01 32 36, complete. Borrow, hauling and compaction of suitable fill material when not				Ė		Ė		•										
53	205.010	obtained from within limits of construction, per Standard Specification Section 205, complete.	270	CY	\$ 45.00	\$	12,150.00	\$	104.00	\$	65.00	131.11%	\$	104.00	\$	28,080.00	\$	43.00	\$	11,610.
54	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place. Supply and Place aggregate base course, crushed, 6-inch or less at	710	SY	\$ 10.00	\$	7,100.00	\$	36.30	\$	30.43	263.00%	\$	36.30	\$	25,773.00	\$	7.00	\$	4,970.
55	302.030	95% compaction per Standard Specification Section 302, complete in place.	80	CY	\$ 20.00	\$	1,600.00	\$	255.45	\$	221.95	1177.25%	\$	255.45	\$	20,436.00	\$	110.40	\$	8,832.
56	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	310	SY	\$ 35.00	\$	10,850.00	\$	73.30	\$	54.80	109.43%	\$	73.30	\$	22,723.00	\$	79.10	\$	24,521.
57	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	700	SY	\$ 60.00	\$	42,000.00	\$	135.70	\$	122.58	126.17%	\$	135.70	\$	94,990.00	\$	158.05	\$	110,635.
58	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	1,010	SY	\$ 10.00	\$	10,100.00	\$	33.25	\$	27.80	232.50%	\$	33.25	\$	33,582.50	\$	10.15	\$	10,251.
59	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard Specification section 440, complete and in place.	700	LF	\$ 5.00	\$	3,500.00	\$	2.00	\$	3.00	-60.00%	\$	2.00	\$	1,400.00	\$	2.00	\$	1,400.
60	710.050	Furnish and install 6-inch steel casing by boring per Standard Specification section 710, complete and in place.	60	LF	\$ 250.00	\$	15,000.00	\$	1,780.00	\$	1,003.33	612.00%	\$	1,780.00	\$	106,800.00	\$	1,170.00	\$	70,200.
61	31 50 10.110	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	660	LF	\$ 20.00	\$	13,200.00	\$	35.85	\$	63.95	79.25%	\$	35.85	\$	23,661.00	\$	41.00	\$	27,060.
62	31 50 10.111	Furnish and install 2* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rook Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	590	LF	\$ 250.00	\$	147,500.00	\$	103.65	\$	145.58	-58.54%	\$	103.65	\$	61,153.50	\$	323.10	\$	190,629.
63	31 50 10.120	Furnish and install 3* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	220	LF	\$ 25.00	\$	5,500.00	\$	47.40	\$	865.77	89.60%	\$	47.40	\$	10,428.00	\$	49.90	ø	10,978.
64	31 50 10.121	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	100	LF	\$ 255.00	\$	25,500.00	\$	106.80	\$	2,311.02	-58.12%	\$	106.80	\$	10,680.00	\$	326.25	\$	32,625.
65	925.100	Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	\$ 20,000.00	\$	60,000.00	\$	10,985.00	\$	8,258.33	-45.08%	\$	10,985.00	\$	32,955.00	\$	13,290.00	\$	39,870.
66	925.100	Furnish and install new 2" pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,000.00	\$	1,000.00	\$	14,440.00	\$	11,363.33	1344.00%	\$	14,440.00	\$	14,440.00	\$	11,650.00	\$	11,650.
67	925.100	Furnish and install new 3* pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,500.00	\$	1,500.00	\$	15,360.00	\$	9,320.00	924.00%	\$	15,360.00	\$	15,360.00	\$	12,150.00	\$	12,150.
68	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	4	EA	\$ 1,500.00	\$	6,000.00	\$	2,100.00	\$	1,626.67	40.00%	\$	2,100.00	\$	8,400.00	\$	2,580.00	\$	10,320
69	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	3	EA	\$ 1,500.00	\$	4,500.00	\$	2,460.00	\$	1,886.00	64.00%	\$	2,460.00	\$	7,380.00	\$	2,898.00	\$	8,694.
70	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	13	EA	\$ 3,000.00	\$	39,000.00	\$	3,195.00	\$	2,758.33	6.50%	\$	3,195.00	\$	41,535.00	\$	3,580.00	\$	46,540.
71	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service line as required, complete in place.	285	LF	\$ 15.00	\$	4,275.00	\$	33.40	\$	690.05	122.67%	\$	33.40	\$	9,519.00	\$	36.75	\$	10,473.
72	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	2	EA	\$ 1,500.00	\$	3,000.00	(4)	2,540.00	\$	2,666.67	69.33%	\$	2,540.00	\$	5,080.00	\$	4,610.00	\$	9,220.
73	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	2	EA	\$ 2,000.00	\$	4,000.00	\$	6,175.00	\$	9,208.33	208.75%	\$	6,175.00	\$	12,350.00	\$	9,450.00	\$	18,900.
		rea 3 - Bid Items 50 through 73 :				\$	433,475.00		ı		1		Ι.		\$	598,491.00			\$	704,794
74	621.4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	1	LS	\$ 21,673.75	\$	21,673.75	\$	28,000.00	\$	46,079.90	29.19%	\$	28,000.00	\$	28,000.00	\$	35,239.71	\$	35,239
		tive Alternate II - Bid Items 50 through 74: nate II Allowances				\$	455,148.75								\$	626,491.00			\$	740,033
	,	Testing				\$	10,000.00								\$	10,000.00			\$	10,000
		Project Sign				\$	1,500.00								\$	1,500.00			\$	1,500
		Temporary Traffic Control and Barricading				\$	7,500.00								\$	7,500.00			\$	7,500
		Vibration Monitoring				\$	5,000.00								\$	5,000.00			\$	5,000
		Permits		\$		\$	5,000.00								\$	5,000.00			\$	5,000.
		Total Additive Alternate II Allowances:		\$		\$	29,000.00								\$	29,000.00			\$	29,000



	RICE BID PROPO	DSAL: CARNUEL WASTEWATER SYSTEM EXPANSION PHASI		ı													
Bid Item#	Item ID #	Item Description	Est. Qtv	Unit	Unit Price	Amount		ow Bidder Jnit Cost	verage Bid Unit Cost	Δ Engineer's Estimate	•	TLC			NN	NUU	
	E ALTERNATE II	I-TASK AREA 4		ı							Unit Price		Amount	L	Init Price		Amount
75	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	\$ 10,000.00	\$ 10,000.00	\$	11,175.00	\$ 20,041.33	11.75%	\$ 11,175.00	\$	11,175.00	\$	8,949.00	\$	8,949.00
76	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	\$ 5,000.00	\$ 5,000.00	\$	3,475.00	\$ 12,592.67	-30.50%	\$ 3,475.00	\$	3,475.00	\$	27,303.00	\$	27,303.00
77	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	\$ 1,200.00	\$ 1,200.00	\$	2,370.00	\$ 5,196.67	97.50%	\$ 2,370.00	\$	2,370.00	\$	3,220.00	\$	3,220.00
78	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	600	CY	\$ 45.00	\$ 27,000.00	\$	104.40	\$ 65.13	132.00%	\$ 104.40	\$	62,640.00	\$	43.00	\$	25,800.00
79	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	1,700	SY	\$ 10.00	\$ 17,000.00	\$	24.50	\$ 26.50	145.00%	\$ 24.50	\$	41,650.00	\$	7.00	\$	11,900.00
80	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	10	CY	\$ 25.00	\$ 250.00	\$	255.45	\$ 223.18	921.80%	\$ 255.45	\$	2,554.50	\$	114.10	\$	1,141.00
81	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	1,480	SY	\$ 35.00	\$ 51,800.00	\$	73.45	\$ 54.85	109.86%	\$ 73.45	\$	108,706.00	\$	79.10	\$	117,068.00
82	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	100	SY	\$ 60.00	\$ 6,000.00	\$	138.45	\$ 123.50	130.75%	\$ 138.45	\$	13,845.00	\$	158.05	\$	15,805.00
83	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	1,530	SY	\$ 10.00	\$ 15,300.00	\$	33.25	\$ 27.80	232.50%	\$ 33.25	\$	50,872.50	\$	10.15	\$	15,529.50
84	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard Specification section 440, complete and in place.	20	LF	\$ 5.00	\$ 100.00	\$	2.00	\$ 5.00	-60.00%	\$ 2.00	\$	40.00	\$	8.00	\$	160.00
85	710.050	Furnish and install 6-inch steel casing by boring per Standard Specification section 710, complete and in place.	60	LF	\$ 250.00	\$ 15,000.00	\$	1,780.00	\$ 1,003.33	612.00%	\$ 1,780.00	\$	106,800.00	\$	1,170.00	\$	70,200.00
86	31 50 10.110	Furnish and install 2* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	1,640	LF	\$ 20.00	\$ 32,800.00	\$	34.85	\$ 62.68	74.25%	\$ 34.85	\$	57,154.00	\$	38.20	\$	62,648.00
87	31 50 10.111	Furnish and install 2* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Exavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	1,130	LF	\$ 250.00	\$ 282,500.00	\$	102.20	\$ 144.35	-59.12%	\$ 102.20	\$	115,486.00	\$	320.85	\$	362,560.50
88	31 50 10.120	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	570	LF	\$ 25.00	\$ 14,250.00	\$	40.50	\$ 861.33	62.00%	\$ 40.50	\$	23,085.00	\$	43.50	\$	24,795.00
89	31 50 10.121	Furnish and install 3* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Exavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	380	LF	\$ 255.00	\$ 96,900.00	\$	105.10	\$ 2,309.27	-58.78%	\$ 105.10	\$	39,938.00	\$	322.70	\$	122,626.00
90	925.100	Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	\$ 20,000.00	\$ 60,000.00	\$	10,985.00	\$ 8,258.33	-45.08%	\$ 10,985.00	\$	32,955.00	\$	13,290.00	\$	39,870.00
91	925.100	Furnish and install new 2* pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,000.00	\$ 1,000.00	\$	14,440.00	\$ 11,363.33	1344.00%	\$ 14,440.00	\$	14,440.00	\$	11,650.00	\$	11,650.00
92	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,500.00	\$ 1,500.00	\$	15,360.00	\$ 9,320.00	924.00%	\$ 15,360.00	\$	15,360.00	\$	12,150.00	\$	12,150.00
93	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	5	EA	\$ 1,500.00	\$ 7,500.00	\$	2,100.00	\$ 1,626.67	40.00%	\$ 2,100.00	\$	10,500.00	\$	2,580.00	\$	12,900.00
94	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	5	EA	\$ 1,500.00	\$ 7,500.00	\$	2,460.00	\$ 1,886.00	64.00%	\$ 2,460.00	\$	12,300.00	\$	2,898.00	\$	14,490.00
95	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, wye, trench, backfill, and all required appurtenances, complete in place.	39	EA	\$ 3,000.00	\$ 117,000.00	\$	3,195.00	\$ 2,758.33	6.50%	\$ 3,195.00	\$	124,605.00	\$	3,580.00	\$	139,620.00
96	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service line as required, complete in place.	620	LF	\$ 15.00	\$ 9,300.00	\$	33.40	\$ 690.05	122.67%	\$ 33.40	\$	20,708.00	\$	36.75	\$	22,785.00
97	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	5	EA	\$ 1,500.00	\$ 7,500.00	\$	2,540.00	\$ 3,050.33	69.33%	\$ 2,540.00	\$	12,700.00	\$	4,610.00	\$	23,050.00
98	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	4	EA	\$ 2,000.00	\$ 8,000.00	\$	6,175.00	\$ 5,491.67	208.75%	\$ 6,175.00	\$	24,700.00	\$	9,450.00	\$	37,800.00
99	928.561	Furnish and install new 3" double pressurized cleanout, complete in place per detail on sheet C55.	3	EA	\$ 2,500.00	\$ 7,500.00	\$	10,430.00	\$ 11,818.33	317.20%	\$ 10,430.00	\$	31,290.00	\$	13,025.00	\$	39,075.00
	Subtotal Task Ar	rea 4 - Bid Items 75 through 99 :	1	1	•	\$ 801,900.00						\$	939,349.00			\$	1,223,095.00
100	621.4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	1	LS	\$ 40,095.00	\$ 40,095.00	\$	45,500.00	\$ 60,551.58	13.48%	\$ 45,500.00	\$	45,500.00	\$	61,154.75	\$	61,154.75
		ive Alternate III - Bid Items 75 through 100: nate III Allowances				\$ 841,995.00				Į.		\$	984,849.00			\$	1,284,249.75
	k) Additive Alteri	Testing				\$ 15.000.00						s	15.000.00			s	15.000.00
		Project Sign				\$ 1,500.00						\$	1,500.00			\$	1,500.00
		Temporary Traffic Control and Barricading				\$ 10,000.00						\$	10,000.00			\$	10,000.00
		Vibration Monitoring				\$ 15,000.00						\$	15,000.00			\$	15,000.00
				\$ 7,500.00						\$	7,500.00			\$	7,500.00		
		Total Additive Alternate II Allowances:		\$		\$ 49,000.00						\$	49,000.00			\$	49,000.00
	I) Subtotal - Line	g) Subtotal Additive Alternate II plus Line h) Additive Alternate II Allowand	ces:	\$		\$ 890,995.00	-					\$	1,033,849.00		-	\$	1,333,249.75
							-								-		



Bid		OSAL: CARNUEL WASTEWATER SYSTEM EXPANSION PHAS	Est.		l	_			ow Bidder		verage Bid	Δ Engineer's			_				_	
Bid tem#	Item ID #	Item Description	Est. Qty	Unit	Unit Price	L	Amount		ow Bidder Unit Cost		verage Bid Unit Cost	Δ Engineer's Estimate		•	TLC			NI	MUU	
DDITIV	E ALTERNATE IV	V - Task Area 5												Unit Price		Amount	U	Init Price		Amount
101	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	\$ 10,000.00	\$	10,000.00	\$	9,555.00	\$	9,402.67	-4.45%	\$	9,555.00	\$	9,555.00	\$	7,653.00	\$	7,653.0
102	01 57 23	 zornpiete. Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete. 	1	LS	\$ 5,000.00	\$	5,000.00	\$	4,525.00	\$	13,185.00	-9.50%	\$	4,525.00	\$	4,525.00	\$	28,030.00	\$	28,030.0
103	6.070	Perform and submit pre-construction video documentation per	1	LS	\$ 1,200.00	\$	1,200.00	s	2,370.00	s	6,001.67	97.50%	s	2,370.00	\$	2,370.00	\$	5,635.00	\$	5,635.0
104	205.010	Supplemental Technical Specification 01 32 36, complete. Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification	700	CY	\$ 45.00	\$	31,500.00	s	104.40	\$	882.47	132.00%	\$	104.40	s	73,080.00	\$	43.00	s	30,100.
		Section 205, complete. Subgrade prep, 12-inch at 95% compaction per Standard			Ψ 10.00								Ė		ľ					
105	301.020	Specification section 301, complete and in place. Supply and Place aggregate base course, crushed, 6-inch or less at	2,840	SY	\$ 10.00	\$	28,400.00	\$	32.15	\$	29.05	221.50%	\$	32.15	\$	91,306.00	\$	7.00	\$	19,880.0
106	302.030	95% compaction per Standard Specification Section 302, complete in place.	320	CY	\$ 20.00	\$	6,400.00	\$	255.00	\$	137.67	1175.00%	\$	255.00	\$	81,600.00	\$	110.00	\$	35,200.
107	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	210	SY	\$ 35.00	\$	7,350.00	\$	73.70	\$	150.93	110.57%	\$	73.70	\$	15,477.00	\$	79.10	\$	16,611.
108	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	3,370	SY	\$ 60.00	\$	202,200.00	\$	135.80	\$	101.95	126.33%	\$	135.80	\$	457,646.00	\$	158.05	\$	532,628.
109	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	1,895	SY	\$ 10.00	\$	18,950.00	\$	33.25	\$	21.80	232.50%	\$	33.25	\$	63,008.75	\$	10.15	\$	19,234.2
110	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard Specification section 440, complete and in place.	3,891	LF	\$ 5.00	\$	19,455.00	\$	2.00	\$	5.83	-60.00%	\$	2.00	\$	7,782.00	\$	1.50	\$	5,836.5
111	710.050	Furnish and install 6-inch steel casing by boring per Standard Specification section 710, complete and in place.	30	LF	\$ 250.00	\$	7,500.00	\$	1,405.00	\$	867.67	462.00%	\$	1,405.00	\$	42,150.00	\$	1,170.00	\$	35,100.0
112	31 50 10.110	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	1,390	LF	\$ 20.00	\$	27,800.00	\$	-	\$	24.67	-100.00%	\$		\$	-	\$	-	\$	
113	31 50 10.111	Furnish and install 2* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56. Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	800	LF	\$ 250.00	\$	200,000.00	\$	103.50	\$	144.58	-58.60%	\$	103.50	\$	82,800.00	\$	325.25	\$	260,200.0
114	31 50 10.120	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	1,530	LF	\$ 25.00	\$	38,250.00	\$	35.55	\$	46.60	42.20%	\$	35.55	\$	54,391.50	\$	44.25	\$	67,702.5
115	31 50 10.121	Furnish and install 3* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	1,000	LF	\$ 255.00	\$	255,000.00	\$	109.70	\$	184.48	-56.98%	\$	109.70	\$	109,700.00	\$	328.75	\$	328,750.0
116	925.100	Furnish and Install new 2* single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	\$ 20,000.00	\$	60,000.00	\$	10,990.00	\$	8,096.67	-45.05%	\$	10,990.00	\$	32,970.00	\$	13,290.00	\$	39,870.0
117	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	\$ 1,500.00	\$	1,500.00	\$	15,360.00	\$	10,270.00	924.00%	\$	15,360.00	\$	15,360.00	\$	12,150.00	\$	12,150.
118	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	8	EA	\$ 1,500.00	\$	12,000.00	\$	2,100.00	\$	3,726.67	40.00%	\$	2,100.00	\$	16,800.00	\$	2,580.00	\$	20,640.
119	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	8	EA	\$ 1,500.00	\$	12,000.00	\$	2,460.00	\$	1,952.67	64.00%	\$	2,460.00	\$	19,680.00	\$	2,898.00	\$	23,184.
120	925.550	Furnish and Install 1-1/4* Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	52	EA	\$ 3,000.00	\$	156,000.00	\$	3,195.00	\$	4,925.00	6.50%	\$	3,195.00	\$	166,140.00	\$	3,580.00	\$	186,160.0
121	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	1,635	LF	\$ 15.00	\$	24,525.00	\$	33.40	\$	140.05	122.67%	\$	33.40	\$	54,609.00	\$	36.75	\$	60,086.
122	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	7	EA	\$ 1,500.00	\$	10,500.00	\$	2,540.00	\$	2,450.00	69.33%	\$	2,540.00	\$	17,780.00	\$	4,610.00	\$	32,270.0
123	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	7	EA	\$ 2,000.00	\$	14,000.00	\$	6,175.00	\$	5,308.33	208.75%	\$	6,175.00	\$	43,225.00	\$	9,450.00	\$	66,150.0
124	928.561	Furnish and install new 3" double pressurized cleanout, complete in place per detail on sheet C55.	6	EA	\$ 2,500.00	\$	15,000.00	\$	10,430.00	\$	11,818.33	317.20%	\$	10,430.00	\$	62,580.00	\$	13,025.00	\$	78,150.0
	Subtotal Task Ar	rea 5 - Bid Items 101 through 124 :			l	\$	1,164,530.00	-							\$	1,524,535.25		I	\$	1,911,221.
125	621.4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	1	LS	\$ 58,226.50	\$	58.226.50	\$	75.000.00	\$	64,187.02	28.81%	s	75,000.00	s	75.000.00	\$	95,561.05	s	95.561.
	m) Subtotal Addi	itive Alternate IV - Bid Items 101 through 125: nate IV Allowances	<u> </u>		Ψ 00,220.00		1,222,756.50	-	70,000.00		01,107.02	20.0170	Ť	70,000.00	\$	1,599,535.25	Ψ	00,001.00	\$	2,006,782.
	,	Testing				\$	20,000.00								\$	20,000.00			\$	20,000
		Project Sign				\$	1,500.00 15,000.00								\$	1,500.00 15,000.00			\$	1,500 15,000
		Temporary Traffic Control and Barricading Vibration Monitoring				5	15,000.00								s	15,000.00			\$ S	15,000. 15.000.
	Permits					\$	10,000.00								s	10,000.00			\$	10,000
		Total Additive Alternate II Allowances:				\$	61,500.00	_							\$	61,500.00			\$	61,500
		e j) Subtotal Additive Alternate IV plus Line k) Additive Alternate IV Allows				\$	1,284,256.50	_							\$	1,661,035.25			\$	2,068,282
		te Bid plus Additive Alternate I plus Additive Alternate II plus Additive A		lus Addi	tive Alternate IV :	\$	3,660,597.00 226,499,44	-							\$	4,396,463.75 272.031.19			\$	5,634,094 348,609
		ross Receipts Tax (NMGRT) on amount on Line p) Subtotal at 6.1875% Bid plus Additive Alternate I, II, III, IV plus NMGRT:				\$	3,887,096.44	-							•	4,668,494.94	i		\$	5,982,703
	I, IUIAL - DaSe I	Did pids Additive Attentate I, II, III, IV PIUS NIVIGR I.				Ť	0,007,000.44	-								4,000,404.04			Ť	5,502,1



LICENSE #51429 5000 EDITH BLVD NE ALBUQUERQUE, NM 87107

B2025000004 Carnuel Sewage Collection System

PROJECT NO. 2952.00

CARNUEL, NEW MEXICO

CONTRACTOR BID PROPOSAL

AUGUST 22, 2024 1:30 PM

Addendum #2 - Attachment #1

ID#		Item Description	Est. Qty	Unit	Unit Price	Amount
	id - Task Are					
Carnue	l Wastewater	System Expansion Phase I				
1	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	8450€	84500
2	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	59900	599000
3	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	23700	23700
4	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	300	CY	10400	3,2000
5	302.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	1,081	SY	1550	16.75550
6	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	10	CY	25500	25500
7	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	290	SY	7330	212579
8	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	30	SY	13570	407100
9	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	320	SY	3325	10 6400
10	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard	10	LF	700	2.200
11	710.050	Specification section 440, complete and in place. Furnish and install 6-inch steel casing by boring per Standard Specification section	30	LF	14050	12 1500
12		710, complete and in place. Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and	910	LF	3200	29.1200
13	31 50 10.111	compacted backfill, complete in place. Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	350	LF	10345	36,20750
14	31 50 10.120	Furnish and install 3* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	730	LF	3940	28,7620
15	31 50 10.121	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	430	LF	10545	45,34350
16	925.100	Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	10,9850	32955₽
17	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	15.3600	15.3600
18	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	3	EA	2/10/200	(20000
19	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	4	EA	246000	9840₽
20	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	28	EA	3195₽	89,460°
21	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	720	LF	3340	24.0430
22	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	3	EA	754000	767220
23		Sheet C55. Turnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	3	EA	61800	18 54000
24	928 561	Smallest GS5. Furnish and install new 3" double pressurized cleanout, complete in place per detail on sheet C55.	2	EA	In 4300	208600
ubtotal o		ns No. 1 through 24			10,730	E 19819
25			- 1		202000	20000
		Construction mobilization (not to exceed 5% of the Bid Items subtotal) ems No.1 through 25	5	%	ajuve	Caco
	id Allowances: Testing Project Sign Temporary Trai Vibration Monite	fic Control and Barricading			8.	\$ 10,000.0 \$ 1,500.0 \$ 7,500.0 \$ 15,000.0
	Permits	Total Allowances:			100	\$ 5,000.0
		, many and a state of the state			1.72	\$ 39,000.0

ID#		Item Description	Est. Qty	Unit	Unit Price	Amount
		- Task Area 2				
Carnue	l Wastewater	System Expansion				
26	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	74600	746DQ
27	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	25750	257500
28	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	22700	23700
29	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	270	CY	10400	28,0809
30	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	580	SY	1480	85840
31	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	10	CY	25500	25500
32	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	115	SY	7230	042950
33	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	45	SY	12520	6/0650
34	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	160	SY	2230	53288
35	440,001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard	10	LF	200	2-700
36	710.050	Specification section 440, complete and in place. Furnish and install 6-inch steel casing by boring per Standard Specification section	30	LF	11000	12/500
37	31 50 10.110	710, complete and in place. Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and	1,000	LF	3500	75,000
38	31 50 10.111	compacted backfill, complete in place. Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	520	LE	103包	53,76B°
39	31 50 10.120	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	300	LF	4340	13,0200
40	31 50 10.121	Fumish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	160	LF	10555	16,8880€
41	925.100	Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	2	EA	109900	21,980
42	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	Ť	EA	15.36CP	15,3600
43	925,110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	4	EA	21000	04000
44	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	4	EA	24600	98400
45	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	25	EA	31900	79,7500
46	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	500	LF	3340	16700°
47	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	4	EA	25400	10.1600
48	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	4	EA	61750	24,7000
ubtotal o	of Bid Items No	. 26 through 48				\$ 4 9 719
49	621,4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	5	%	19.0000	19000
Subtota	al of Additive A e Alternate I All Testing	Iternate I Bid Items No. 26 through 49	, ,	76	11,000-1	\$ 438,219 \$ 10,000.0
	Vibration Monit Permits	ffic Control and Barricading oring Total Allowances:				\$ 1,500.0 \$ 7,500.0 \$ 15,000.0 \$ 5,000.0 \$ 39,000.0
Subtota		otal Additive Alternate I Plus Line e) Total Additive Alternate I Allowances:			er	4772198

ID#	E & LINDARY	Item Description	Est. Qty	Unit	Unit Price	Amount
		- Task Area 3				
arnuel		System Expansion			1	
50	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	652000	6522º
51	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	287500	2875∞
52	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	237000	23700
53	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	270	CY	10400	28.080°
54	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	710	SY	3630	25.7730
55	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	80	CY	25545	204369
56	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	310	SY	7230	277735
57	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	700	SY	12570	949900
58	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	1,010	SY	2325	335975
59	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard	700	LF	200	12000
60	710.050	Specification section 440, complete and in place. Furnish and install 6-inch steel casing by boring per Standard Specification section	60	LF	17000	1002
44	DA Jina	710, complete and in place. Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical			7/00	106,00
61	31 50 10.110	Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	660	LF	3585	23,661
62	31 50 10.111	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	590	LF	10365	61/1535
63	31 50 10.120	Fumish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	220	LF	4740	10,4280
64	31 50 10.121	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	100	ĹF	10680	10,6800
65		Furnish and Install new 2° single body Combination Air Valve, including access can polymer coaled corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	10,985	32955
66	925.100	Furnish and install new 2" pressurized check valve, complete in place per detail on sheet C57.	- 1	EA	14.4400	14.4400
67	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	15.3600	15.3600
68	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	4	EA	21000	84000
69	925.110	Fumish and install new 3" plug valve, complete in place per detail on sheet C57.	3	EA	24600	73800
70	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	13	EA	3195=	41,535
71		Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	285	LF	3340	95190
72	925 558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	2	EA	254200	SOROR
73	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail on sheet C55.	2	EA	617500	12 3509
btotal o	771000	50 through 73			01/2	59R 191
74	1 0.5000	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	. 1	0/	70 000	2000
Subtota	1 2 2 2 2	ternate II Bid Items No. 50 through 74	5	%	28,000	\$676,491
	Project Sign Temporary Trat Vibration Monito Permits	1-A F : A Y				\$ 10,000.0 \$ 1,500.0 \$ 7,500.0 \$ 5,000.0 \$ 5,000.0
Subtotal		Total Allowances: otal Additive Alternate II plus Line h) Additive Alternate II Allowances:				455 A 9 13

ID#		Item Description	Est. Qty	Unit	Unit Price	Amount
		I - Task Area 4	Sec. 16			
Carnue	Wastewater	System Expansion				
75	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	11.1752	11,1750
76	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	347500	347500
77	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	237000	23700
78	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	600	CY	10440	67640°
79	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	1,700	SY	2450	41.650
80	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	10	CY	25545	755450
81	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	1,480	SY	7345	108706
82	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	100	SY	12845	17 845
83	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	1,530	SY	3325	508772
84	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard	20	LF	72	1000
85	710.050	Specification section 440, complete and in place. Furnish and install 6-inch steel casing by boring per Standard Specification section	60	LF	17800	10000
	The second	710, complete and in place. Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical	00	LI	11000	106,800
86	31 50 10,110	Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	1,640	LF	3485	57,1540
87	31 50 10.111	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	1,130	LF	10230	115,486
88	31 50 10.120	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	570	LF	4050	23,085
89		Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	380	LF	1050	39,9389
90	925.100	Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	10,9850	32955
91	020.100	Furnish and install new 2* pressurized check valve, complete in place per detail on sheet C57.	1	EA	14,4400	14.4400
92	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1	EA	15,3600	15.3600
93	925.110	Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	5	EA	710000	10,5000
94		Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	5	EA	24600	12/3000
95	925,550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, wye, trench, backfill, and all required appurtenances, complete in place.	39	EA	31950	124/05
96	925 550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	620	LF	2740	2070.99
97	925.558	Shiplete in place. Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	5	EA	25400	127000
98	926.559	Furnish and install new 2" double pressurized cleanout, complete in place per detail	4	EA	41750	24700
99	928 561	on sheet C55. Furnish and install new 3" double pressurized cleanout, complete in place per detail	3	EA	104270	31 7900
btotal o	f Bid Items No.	on sheet C55. 75 through 99		75.64	ا مدروا	929249
100	621.4.1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	5	9/4	155000	AS ENTO
Additive	of Additive Alternate III Bit Testing Project Sign Temporary Traf	ernate III Bid Items No. 75 through 100 d Allowances: fic Control and Barricading			ED .	\$ 984,84 \$ 15,000.0 \$ 10,000.0 \$ 15,000.0
	Permits	Total Alfowances:				\$ 7,500.0 \$ 49,000.0
		al Additive Alternate III plus Line k) Additive Alternate III Allowances:				49,000.0

ID#	ITEM BID#	Item Description	Est. Qty	Unit	Unit Price	Amount
		II - Task Area 5	1 449			
Carnue	Wastewater	System Expansion				
101	01 71 23	Construction staking, per Supplemental Technical Specification 01 71 23, complete.	1	LS	95552	9555∞
102	01 57 23	Provide National Pollutant Discharge Elimination System (NPDES) permitting, complete.	1	LS	45250	452500
103	6.070	Perform and submit pre-construction video documentation per Supplemental Technical Specification 01 32 36, complete.	1	LS	23700	23700
104	205.010	Borrow, hauling and compaction of suitable fill material when not obtained from within limits of construction, per Standard Specification Section 205, complete.	700	CY	10440	73,080=
105	301.020	Subgrade prep, 12-inch at 95% compaction per Standard Specification section 301, complete and in place.	2,840	SY	3215	91,3060
106	302.030	Supply and Place aggregate base course, crushed, 6-inch or less at 95% compaction per Standard Specification Section 302, complete in place.	320	CY	25500	B1,6000
107	336.024	Furnish and install Asphalt Concrete Material, SP-III, ONE 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	210	SY	7379	154770
108	336.024	Furnish and install Asphalt Concrete Material, SP-III, TWO 3-inch lift, w/out laydown machine per standard specification section 336, complete and in place.	3,370	SY	13500	457,646
109	343.020	Existing pavement, asphalt concrete, saw cut, remove and dispose, ANY THICKNESS, per standard specification section 343, complete.	1,895	SY	33.52	630037
110	440.001	Furnish and place reflectorized painted marking, 4-inch to 12-inch, per Standard Specification section 440, complete and in place.	3,891	LF	200	778200
111	710.050	Furnish and install 6-inch steel casing by boring per Standard Specification section 710, complete and in place.	30	LF	140500	42/5/DE
113	31 50 10.111	Furnish and install 2" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	800	LF	10350	828000
114		Furnish and install 3* HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, trench and compacted backfill, complete in place.	1,530	LF	3555	54,39150
115	31 50 10 121	Furnish and install 3" HDPE SDR 11 Force main, per Supplemental Technical Specification 33 31 23, including trace wire per detail on sheet C56, Rock Excavation trench and compacted backfill, per Supplemental Technical Specification 31 50 10, complete in place.	1,000	LF	10970	109,700
116		Furnish and Install new 2" single body Combination Air Valve, including access can polymer coated corrigated metal pipe, frame, and cover per detail on sheet C55, Complete in place.	3	EA	10,9900	339700
117	925.100	Furnish and install new 3" pressurized check valve, complete in place per detail on sheet C57.	1.1	EA	15,360°	15,3600
118		Furnish and install new 2" plug valve, complete in place per detail on sheet C57.	8	EA	21000	16.800°
119	925.110	Furnish and install new 3" plug valve, complete in place per detail on sheet C57.	8	EA	24600	19.680
120	925.550	Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service from force main to property line (up to 25 linear feet) including valves, valve box, collar, trench, backfill, and all required appurtenances, complete in place per detial on sheet C55.	52	EA	3195°	166,140
121		Furnish and Install 1-1/4" Low Pressure Sanitary Sewer Service line as required, complete in place.	1,635	LF	3340	546090
122	925.558	Furnish and install new 2" single pressurized cleanout, complete in place per detail on sheet C55.	7	EA	25400	17.7800
123	926 559	Furnish and install new 2° double pressurized cleanout, complete in place per detail on sheet C55.	7	EA	617500	43 2250
124	928.561	Furnish and install new 3" double pressurized cleanout, complete in place per detail on sheet C55.	6	EA	104200	62580°
ubtotal o		101 through 124			10,100	1574.00
125	621,4,1	Construction mobilization (not to exceed 5% of the Bid Items subtotal)	5	%	Kore	75 0000
		(ternate IIII Bid Items No. 101 through 125	-	70	13,000	159900
	Vibration Monitor Permits	fic Control and Barricading				\$ 20,000.00 \$ 1,500.00 \$ 15,000.00 \$ 10,000.00 \$ 61,500.00
		dditive Alternate I + Additive Alternate II + Additive Alternate III + Additive Alternate	a Milt:		1	1,398,46
		eipts Tax (NMGRT) on amount on Line on) Subtotal at 6,1875%				27303/1
TOTAL -	Base Bid + Add	litive Alternate I + Additive Alternate II + Additive Alternate III + Additive Alternate II	II + NMGRT			11-19/19/

o) Subtotal Additive Alternate IIII and Allowances (lines m+n):	
p) Subtotal - Base Bid + Additive Alternate I + Additive Alternate II - Alternate IIII:	+ Additive Alternate III +Additive
q) New Mexico Gross Receipts Tax (NMGRT) on amount on Line m) Subtotal at 6.1875%
r) TOTAL - Base Bid + Additive Alternate I + Additive Alternate II + A	Additive Alternate III + Additive Alternate IIII +
3. MBE, WBE, LSA Percentage% 4. RFB ADDENDA	
The Bidder acknowledges receipt of the following	ng Addenda:
Addendum No. 1 Dated: August 6, 2024	Addendum No Dated:
Addendum No. 2 Dated: August 15, 2024	Addendum No Dated:
	this Bid Proposal (attach separate page(s) with
the form signature block below for all parties' si	ignatures).
This Bid Proposal is hereby respectfully submitt	ed by:
TLC Company Inc.	51429
Company Name of Bidder	NM Contractor's License Number
Eddi C Padio	
Citate C. Pacare	GA98, GB98, GF98, EE98, MM98
Signature	License Classification(s)
Eddie C. Padilla	L2101315134
Printed Name	NM Resident Contractor Number
President	N/A
Title Title	NM Resident Veteran Contractor Number
	019742011629
Address:	NM Department of Workforce
5000 Edith Blvd N.E.	Solutions Registration Number
Albuquerque, NM, 87107	100516065
	189516065 DUNS Number
	20110111111001
	August 22, 2024
	Date
	(505) 761-9696
	Telephone Number

E-Mail Address

UNFAIR BUSINESS PRACTICES DISCLOSURE FORM

As defined in Section 2-376 of the Bernalillo County Procurement Ordinance, "Unfair Business Practices" shall mean a system or pattern of acts or practices that a relevant federal or enforcement agency has made a formal finding within the last three years to be discriminatory, deceptive, fraudulent, or abusive (or similar terms) under the New Mexico Unfair Practices Act, NMSA 1978, § 57-12-1 et seq, or an applicable federal or other state consumer protection law relating to the subject matter of the procurement) or that has violated a relevant criminal statute, as evidenced by a public enforcement order or judgment, settlement with the enforcement agency or other formal finding by the relevant enforcement agency with regulatory enforcement authority under the applicable consumer protection law, or criminal conviction.

THE BIDDER DISCLOSES THAT:

Bidder has been found, within the last three (3) years from the date of submitting this Form, to have participated in Unfair Business Practices as defined above, as follows:

Description of Violation:
Date of Violation:
Date of Finding by Enforcement Agency or Authority:
Comment:
Description of Violation:
Date of Violation:
Date of Finding by Enforcement Agency or Authority:
Comment:
Description of Violation:
Date of Violation:
Date of Finding by Enforcement Agency or Authority:
Comment:

Attach additional sheets for additional information about these violations or to add additional violations. Submit information for ALL violations.

IF NO VIOLATIONS, CHECK HERE: X

THE BIDDER CERTIFIES THAT:

- It will report to the Central Purchasing Office any additional Unfair Business Practices or violations by it during the term of its agreement with the Water Authority.
- It agrees that any contract with the Water Authority awarded under this RFB may be terminated as a result of its engaging in Unfair Business Practices.

TLC Company Inc.	(505) 761-9696
Company Name of Bidder	Telephone Number
Eddie C. Padelle	(505) 761-5559
Signature of Bidder's Authorized Representative	FAX Number
Eddie C. Padilla	tmcconnell@tlcplumbing.com
Printed Name of Bidder's Authorized Representative	E-Mail Address
President	August 22, 2024
Printed Title of Bidder's Authorized Representative	Date
Address:	
5000 Edith Blvd N.E.	
Albuquerque, N.M., 87107	

SFPA LISTING OF SUBCONTRACTORS

Bidder must list all Subcontractors required to be listed for compliance with the Subcontractors Fair Practices Act.

	NAME OF SUBCONTRACTOR	NAME, CITY, OR COUNTY OF PLACE OF BUSINESS	CATEGORY OF WORK	PUBLIC WORKS REGISTRATION NUMBER	NM CONTRACTOR'S LICENSE NUMBER
1	DHUMEREROUND NO BIDS RECE	ALBUS NM	BOBING	002272520110706	61581
2	NO BIDS RECE	IVED	BOBING STEIPING		
3			Y	1,	
4	1	7.2.3.1			
5					
6					
7					
8					
9					
10		1			
11					
12					
13					

NOTICE TO BIDDER

The above listing must include the NAME, CITY OR COUNTY OF PLACE OF BUSINESS and CATEGORY OF WORK that will be done by each Subcontractor on the list. List only one Subcontractor for each category of work.

FAILURE TO COMPLY WITH THESE REQUIREMENTS WILL MAKE THE BID NON-RESPONSIVE AND THE BID WILL BE REJECTED.

[Use additional sheets if necessary.]

TLC Company Inc.	
Company Name of Bidder	
Eddie C-Pachl	"le
Signature	
Eddie C. Padilla	
Printed Name	
President	
Title	
August 22, 2024	
Date	

CERTIFICATION REGARDING LOBBYING

The undersigned certifies, to the best of his or her knowledge and belief, that:

- (1) No Federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with the awarding of any Federal grant, the making of any Federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment or modification of any Federal contract, grant, loan, or cooperative agreement.
- (2) If any funds other than Federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with this Federal contract, grant, loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-LLL, "Disclosure of Lobbying Activities," in accordance with its instructions.
- (3) The undersigned shall require that the language of this certification be included in the award documents of all sub-awards at all tiers (including subcontracts, sub-grants, and contracts under grants, loans, and cooperative agreements) and that all sub- recipients shall certify and disclose accordingly.

This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into. Submission of this certification is a prerequisite for making or entering into this transaction imposed by section 1352, title 31, United States Code. Any person who fails to file the required certification shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.

Organization:	TLC Company Inc.	
Street address:	5000 Edith Blvd N.E.	
City, State, Zip:	Albuquerque, N.M., 87107	
Eddie C. CERTIFIED B	Padilla Y.(type or print)	
Presiden		
TITLE:	ddie C. Padlle	August 22, 2024
	(signature)	(date)

Disclosure of Lobbying Activities

Complete this form to disclose lobbying activities pursuant to 31 U.S.C. 1352

(See reverse for public burden disclosure)

a. contract a. bid/c	3. Report Type: a. initial filing b. material change For material change only: Year quarter Date of last report		
4. Name and Address of Reporting Entity: PrimeSubawardee, if Known: Congressional District, if known:	If Reporting Entity in No. 4 is Subawardee, Enter Name and Address of Prime: Congressional District of Impount.		
6. Federal Department/Agency:	Congressional District, if known: 7. Federal Program Name/Description: CFDA Number, if applicable:		
8. Federal Action Number, if known:	9. Award Amount, if known:		
10. a. Name and Address of Lobbying Registrant (if individual, last name, first name, MI): No Lobbying Activities	b. Individuals Performing Services (including address if different from No. 10a) (last name, first name, MI):		
11. Information requested through this form is authorized by title 31 U.S.C. section 1352. This disclosure of lobbying activities is a material representation of fact upon which reliance was placed by the tier above when this transaction was made or entered into. This disclosure is required pursuant to 31 U.S.C. 1352. This information will be reported to the Congress semi-annually and will be available for public inspection. Any person who fails to file the required disclosure shall be subject to a civil penalty of not less than \$10,000 and not more than \$100,000 for each such failure.	Signature: Eddie C. Padilla Print Name: Eddie C.Padilla Title: President Telephone No.: (505) 761-9696 Date: August 22, 2024		
Federal Use Only	Authorized for Local Reproduction Standard Form - LLL (Rev. 7-97)		

CAMPAIGN CONTRIBUTION DISCLOSURE FORM

Instructions

- 1. Pursuant to the Bernalillo County Procurement Ordinance (the "Procurement Ordinance"), Sections 2-365(c)(6) and 2-390(b), a Prospective Contractor must file a Campaign Contribution Disclosure Form with the Water Authority when submitting a Proposal in response to a Request for Proposals. The Prospective Contractor must disclose whether he or she, a Family Member or a Representative of the Prospective Contractor has made a Campaign Contribution to an Applicable Public Official during the two years prior to the date on which the Prospective Contractor submits a Proposal, if the aggregate total of contributions given by the Prospective Contractor, a Family Member or a Representative of the Prospective Contractor to the public official exceeds two hundred and fifty dollars (\$250) over the two year period.
- 2. Furthermore, the Water Authority may cancel a solicitation or proposed contract award, or a contract that is executed may be ratified or terminated pursuant to the Procurement Ordinance and Rules if: 1) a Prospective Contractor, a Family Member of the Prospective Contractor, or a Representative of the Prospective Contractor gives a Campaign Contribution or other thing of value to an Applicable Public Official or the Applicable Public Official's employees during the Pendency of the Procurement Process or 2) a Prospective Contractor fails to submit a fully completed disclosure statement pursuant to the law.
- 3. The name or names of every Applicable Public Official, if any, for which disclosure is required by a Prospective Contractor shall be indicated on the form.

THIS FORM MUST BE FILED BY ANY PROSPECTIVE CONTRACTOR WHETHER OR NOT HE OR SHE, HIS OR HER FAMILY MEMBER, OR REPRESENTATIVE HAS MADE ANY CONTRIBUTIONS SUBJECT TO DISCLOSURE.

The following definitions apply:

- "Applicable Public Official" means a person elected to an office or a person appointed to complete a term of an elected office, who has the authority to award or influence the award of the contract for which the Prospective Contractor is submitting a competitive sealed proposal or who has the authority to negotiate a sole source or small purchase contract that may be awarded without submission of a sealed competitive proposal.
- "Campaign Contribution" means a gift, subscription, loan, advance or deposit of money or other thing of value, including the estimated value of an in-kind contribution, that is made to or received by an Applicable Public Official or any person authorized to raise, collect or expend contributions on that official's behalf for the purpose of electing the official to statewide or local office. "Campaign Contribution" includes the payment of a debt incurred in an election campaign, but does not include the value of services provided without compensation or unreimbursed travel or other personal expenses of individuals who volunteer a portion or all of their time on behalf of a candidate or political committee, nor does it include the administrative or solicitation expenses of a political committee that are paid by an organization that sponsors the committee.

"Family Member" means spouse, father, mother, child, father-in-law, mother-in-law, daughter-

in-law or son-in-law of (a) a Prospective Contractor, if the Prospective Contractor is a natural person; or (b) an owner of a Prospective Contractor.

- "Pendency of the Procurement Process" means the time period commencing with the public notice of the request for proposals and ending with the award of the contract or the cancellation of the request for proposals.
- "Prospective Contractor" means a person or business that is subject to the competitive sealed proposal process set forth in the Procurement Code or is not required to submit a competitive sealed proposal because that person or business qualifies for a sole source or a small purchase contract.
- "Representative of a Prospective Contractor" means an officer or director of a corporation, a member or manager of a limited liability corporation, a partner of a partnership or a trustee of a trust of the Prospective Contractor.

Names of Applicable Public Officials: Current members of the Albuquerque/Bernalillo County Water Utility Authority Board, whose names can be viewed at: https://www.abcwua.org/your-water-authority-governing-board/

DISCLOSURE OF CONTRIBUTIONS BY PROSPECTIVE CONTRACTOR:

Contribution Made By:	G
Relation to Prospective Contractor:	
Applicable Public Official Receiving	g Contribution:
Date Contribution(s) Made:	
Amount(s) of Contribution(s)	
Nature of Contribution(s)	
Purpose of Contribution(s)	

Download and attach additional copies if this forms if necessary.

NO CONTRIBUTIONS IN THE AGGREGATE TOTAL OVER TWO HUNDRED FIFTY DOLLARS (\$250) WERE MADE to an Applicable Public Official by me, a Family Member or representative during the two-year period prior to the date on which this Proposal is submitted.

Eddie C. Padilla Contractor Firm Name	
Eddie C. Padille	August 22, 2024
Signature	Date
President	
Title (Position)	

BID BOND

KNOW ALL MEN BY THESE PRESENTS:

THAT TLC Company, Inc.	, as Principal
hereinafter called the Principal, and 1	
	under and by virtue of the laws of the State of to do business in the State of New Mexico, as Surety
	rmly bound unto the Albuquerque Bernalillo County
	er called the Owner, in the sum of five percent (5%
그들은 이 그렇게 살아가 하는데 아니라 하는데 아름이 되었다. 그렇게 그렇게 하는데 그렇게 되었다면 하는데	h sum well and truly to be made, we bind ourselves ors and assigns, jointly and severally, firmly by these
	ted the accompanying Bid Proposal dated eferenced Project which Bid Proposal is by reference
made a part hereof and is herematter referred	to as the Bid.
of the Principal and the Principal shall enter the terms of such Bid, and give such bond of Documents with good and sufficient surety of the prompt payment of labor and material fut the failure of the Principal to enter into such of shall pay to the Owner the difference not specified in said Bid and such larger amount	gation is such that, if the Owner shall accept the Bic into a Contract with the Owner in accordance with or bonds as may be specified in the Bid or Contract for the faithful performance of such Contract and for arnished in the prosecution thereof or in the event of Contract and give such bond or bonds, if the Principa to exceed the penalty hereof between the amount for which the Owner may in good faith contract with y said Bid, then this obligation shall be null and void
bighted and scaled this day of	
	TLC Company, Inc.
ATTEST:	Principal
- Tommanuly	By: Eddie C. Padlle Title: PRESCOENT Nationwide Mutual Insurance Company
ATTEST:	Surety
	By: Swan O. Deeskill
Shuby Heakler	Title: Susan D. Driskill, Attorney In Fact
Account Manager	

KNOW ALL MEN BY THESE PRESENTS THAT:

Nationwide Mutual Insurance Company, an Ohio corporation

hereinafter referred to severally as the "Company" and collectively as "the Companies" does hereby make, constitute and appoint:

David C. Mitchie

each in their individual capacity, its true and lawful attorney-in-fact, with full power and authority to sign, seal, and execute on its behalf any and all bonds and undertakings, and other obligatory instruments of similar nature, in penalties not exceeding the sum of

UNLIMITED

Surety Bond Number: Bid Bond Principal: TLC Company, Inc.

Obligee: Albuquerque Bernalillo County Water Utility Authority

and to blnd the Company thereby, as fully and to the same extent as if such instruments were signed by the duly authorized officers of the Company; and all acts of sald Attorney pursuant to the authority given are hereby ratified and confirmed.

This power of attorney is made and executed pursuant to and by authority of the following resolution duty adopted by the board of directors of the Company.

"RESOLVED, that the president, or any vice president be, and each hereby is, authorized and empowered to appoint attorneys-in-fact of the Company, and to authorize them to execute and deliver on behalf of the Company any and all bonds, forms, applications, memorandums, undertakings, recognizances, transfers, contracts of indemnity, policies, contracts guaranteeing the fidelity of persons holding positions of public or private trust, and other writings obligatory in nature that the business of the Company may require; and to modify or revoke, with or without cause, any such appointment or authority; provided, however, that the authority granted hereby shall in no way limit the authority of other duly authorized agents to sign and countersign any of said documents on behalf of the Company."

*RESOLVED FURTHER, that such attorneys-in-fact shall have full power and authority to execute and deliver any and all such documents and to bind the Company subject to the terms and limitations of the power of attorney issued to them, and to affix the seal of the Company thereto; provided, however, that said seal shall not be necessary for the validity of any such documents."

This power of attorney is signed and sealed under and by the following bylaws duly adopted by the board of directors of the Company.

Execution of instruments. Any vice president, any assistant secretary or any assistant treasurer shall have the power and authority to sign or attest all approved documents, instruments, contracts, or other papers in connection with the operation of the business of the company in addition to the chairman of the board, the chief executive officer, president, treasurer or secretary; provided, however, the signature of any of them may be printed, engraved, or stamped on any approved document, contract, instrument, or other papers of the Company.

IN WITNESS WHEREOF, the Company has caused this instrument to be sealed and duly attested by the signature of its officer the 1st day of April, 2024.

ACKNOWLEDGMENT

Antonio C. Albanese, Vice President of Nationwide Mutual Insurance Company

STATE OF NEW YORK COUNTY OF KINGS: 58

On this 1st day of April, 2024, before me came the above-named officer for the Company aforesaid, to me personally known to be the officer described in and who executed the preceding Instrument, and he acknowledged the execution of the same, and being by me duiy sworn, deposes and says, that he is the officer of the Company aforesaid, that the seal affixed hereto is the corporate seal of said Company, and the said corporate seal and his signature were duly affixed and subscribed to said instrument by the authority and direction of said Company.

Sharon Laburda Notary Public, State of New York No. 01LA8427697 Qualified in Kings County Commission Expires January 3, 2026

Notary Public My Commission Expires

CERTIFICATE

I, Lezlie F. Chimienti, Assistant Secretary of the Company, do hereby certify that the foregoing is a full, true and correct copy of the original power of attorney issued by the Company; that the resolution included therein is a true and correct transcript from the minutes of the meetings of the boards of directors and the same has not been revoked or amended in any manner; that said Antonio C. Albanese was on the date of the execution of the foregoing power of attorney the duly elected officer of the Company, and the corporate seal and his signature as officer were duly affixed and subscribed to the said instrument by the authority of said board of directors; and the foregoing power of attorney is still in full force and effect.

IN WITNESS WHEREOF, I have hereunto subscribed my name as Assistant Secretary, and affixed the corporate seal of said Cooppany and 19th day of August . 2024 .

Assistant Secretary

BDJ 1(04-24)00

LIST OF ADDITIONAL SUBCONTRACTORS/SUPPLIERS

B2025000004 CARNUEL SEWAGE COLLECTION SYSTEM PROJECT No. 02952.00

	SUBCONTRACTOR'S/ SUPPLIER'S NAME, ADDRESS & PHONE NUMBER	OWNER'S NAME AND TITLE	NEW MEXICO CONTRACTOR'S LICENSE NO.	NM DWS NO. (If applicable)	CATEGORY OF WORK
1	DHUNGEL GDOVND P.O.BOX 91958 (505)220-0115 ALBUGNM B7199	DHNTHEIGE ange	61581	0127252	BANG
2		TEECE NE	D		STEPPAS
3					
4					
5					
6					

TLC (Company Inc.
Comp	any Name of Contractor
Ву:	Eddie C-Padel
	(Signature) Eddie C. Padilla
	Printed Name President
	Title August 22, 2024
	Date

STATE OF NEW MEXICO

TAXATION AND REVENUE DEPARTMENT

RESIDENT CONTRACTOR CERTIFICATE

Issued to: TLC COMPANY INC

DBA: TLC PLUMBING & UTILITY 5000 EDITH BLVD NE

ALBUQUERQUE, NM 87107-4125

Expires:

05-Jan-2027

Certificate Number:

L2101315184

Stephanie Schardin Clarke

Cabinet Secretary

THIS CERTIFICATE IS NOT TRANSFERABLE

Certificate of Contractor Registration



This is to certify that

TLC Company, Inc.

TLC Plumbing & Utility 5000 EDITH BLVD NE ALBUQUERQUE, NM, 87107-4125

has registered with the Department of Workforce Solutions

Registration Date: 5/23/2024

Registration Number: 0191742011629

To see the current status for this company please go to the Public Works This certificate does not show the current status of the company. and Apprenticeship Application (PWAA) at https://www.dws.state.nm.us/pwaa New Mexico Department of Workforce Solutions, Labor Relations Division, Public Works, 121 Tijeras Ave NE. Suite 3000, Albuquerque, NM 87102, (505) 841-4400